
All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Replaces John Deere Z925M ZTrak Zero-
Turn Mower Parts
Rotary Mower
Deck Parts



All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Item
No

R&R
Part No.

OEM
Part No. Description

Qty
Req

Price
Each

Order
Quantity

Belts

20 RTCU31132 TCU31132 V-Belt - Mower Deck Drive 1 115.95

20 RTCU35604 TCU30356,
TCU35604 V-Belt - 60 in Mower Deck Drive 1 74.95

Rotary Blades

30 RM136194 M136194 Mower Blade - Std Lift 17 in 3 17.30

30 RTCU30316 TCU30316 Mower Blade - Std Lift 19 in 3 17.40

30 RM128485 M128485 Mower Blade - Med Lift 21 in 3 25.80

30 RM168223 M168223 Rotary Blade - 21" 3 25.15

Tires

40 RTCU18744 TCU18744,
UC28193 Wheel - 5 in x 2 3/4 4 12.75

41 RTCU34060 TCU34060 Roller - 5 1/2 x 3 2 19.40

Other Parts Available

70 RTCA17135 TCA17135 Idler Puller - Flat 7 in Dia with .75 in Bore 2 51.15

71 RTCU22505 TCU22505 Spacer 2 48.30

72 RTCU38143 TCU38143 Hub 3 39.45

74 R253-133 M85699 Seal - Oil 3 8.05

75 RM88251 M169375,
M88251 Bearing - Spindle 6 13.60

76 RM163058 M127517,
M163058 Bushing - Sub For M127517 3 18.65

77 RM163060 M133398,
M163060 Washer - Replaces RM133398 3 6.40

Replaces John Deere Z925M ZTrak Zero-
Turn Mower Parts
Rotary Mower
Deck Parts



All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Item
No

R&R
Part No.

OEM
Part No. Description

Qty
Req

Price
Each

Order
Quantity

78 RM127198 M127198 Seal 3 7.15

79 RM134382 M134382 Spindle - 25 mm w/M12-1.75 Blade Bolt Thrd 3 49.25

80 RM163059 M163059 Spindle - 25 mm w/M16-2.0 Blade Bolt Thrd 3 50.50

81 RM163053 M134305,
M163053 Grass Deflector - Spindle 3 12.35

82 RM123522 M123522 Washer - Belleville - Blade Bolt 3 13.95

83 R19M7489 19M7489 Bolt Hex HD - M16 x 45 Gr 10.9 3 4.50

84 RTCU22376 TCU22376 Cap 2 3.10

85 RTCU26104 TCU26104 Nut - 1-14 Hx Jam ESNA Lock 2 9.15

86 RJD8225 JD8225 Tapered Bearing Cup 2 5.75

87 RJD8187 JD8187 Tapered Bearing Cone 2 10.45

88 R24H1465 24H1465 Washer - 1-3/32" x 1-3/4" x 0.060" 2 5.35

89 RJD8935 JD8935 Bearing 2 10.95

90 RTCU26325 TCU26325 Castor Fork 2 118.60

91 R14M7276 14M7276 Nut - M16-2.0 2 2.55

92 R19M7978 19M7978 Cap Screw - M16 x 190 2 9.95

93 R19M7944 19M7944 Bolt - M10-1.5 x 120 Hx HD Fl Cl 10.9 2 6.70

94 RTCU28739 TCU28739 Axle 2 23.80

95 R14M7465 14M7465 Lock Nut - M10-1.50 Fl 3 2.90

96 R03M7268 03M7268 Bolt - M8 x 120 Carriage 8.8 4 2.85

97 RTCU19299 TCU19299 Axle Bushing 4 19.75

98 R14M7396 14M7396 Locknut - Flanged Nyloc 4 0.72

Replaces John Deere Z925M ZTrak Zero-
Turn Mower Parts
Rotary Mower
Deck Parts



All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.

Item
No

R&R
Part No.

OEM
Part No. Description

Qty
Req

Price
Each

Order
Quantity

99 RTCU21860 TCU21860 Grass Deflector - Chamber Seperater 2 18.35

102 R19M7809 19M7809 Screw 2 2.49

103 RAT23189 AT23189 Ball Bearing 2 4.55

104 RTCU25675 TCU25675 Spacer 1 16.90

105 R6050-01-024 TCA19532 Bearing 2 11.30

106 RTCU26746 TCU26746 Spacer 1 21.60

107 RH137329 H137329 Nut - M12-1.75 Fl Hx Top Lock 1 2.45

108 RTCU29427 TCU29427 Spacer - Idler Pulley 1 25.70

109 RTCU27095 TCU27095 Bracket 1 96.70

110 RTCU27208 TCU27208 Deflector - Seperator LH 1 39.35

111 RTCU27416 TCU27416 Spring - Compression 1 37.15

113 RTCU27415 TCU27415 Spring - Compression Heavy Duty 1 47.85

115 R93-2559 TCU23201 Bearing 1 11.50

116 RA203603 JD8535 Bearing 6 10.15

117 R254-72 JD8253 Cup - Bearing 2 4.05

118 RAH98118 AH98118 Seal 2 9.05

Replaces John Deere Z925M ZTrak Zero-
Turn Mower Parts
Rotary Mower
Deck Parts


